1.

i < o, cos AtanA ©] FH-& F5tof=h

A~ S
sin T
8 8 15 7 9
O @y oz 05 Of
8
A= Solm
sin 17]
15 8
COSA—ﬁ, tanA—B
15 8 8
..cosAxtanA_ﬁxE_ﬁ




2. sin 0° X cos 60° + cos 0° X tan 45° — sin 45° X tan 60° =7

V3 V3 G
@1—5_ ®1+F @1—7
@1+76 @2—73

sin 0° X cos 60° + cos 0° X tan 45° — sin 45° X tan 60°

1 2
:Ox§+1x1—\/7_><\/§

V6
2




S T34 ¥ 0 & AABC 9] Yol 1,
Hkz] 2 9] Zolx 10em ©]th. AC = 12¢m
A w, sin A O] Ff2?

3 \5 6
(Dg\/7 @4? ®3
@? @5

8

AB =20B = 20cm °]1 /C =90°0|B&
BC = V202 - 122 = 16 cm
BC 16 4

i A:=:—:—
S11 AB 20 5




4.

oh5 AHZe| 9] grol 7 22 29
@sin30° @ cos30° ® sin90°
@ tan4b° ® tan50°
1 3
sin30° = 2 cos30° = ‘/7_’ sin90° = 1, tan45° = 1,
tan50° > tan45° = 1 o|B 2 7} ZH& A8 ¢in 30° o]t




5.

o I”olA 2C = 90° Y df,

sin A + cos A 9] =27

® @%
8 23
® w7 Oy

B

2

AC =172 -82 =

. BC 8
A =57
AC 15

cosA:ﬁzl_7

. sinA + cos A =

152

23

17

- AC=15




o2 2HA 0 = 90° & o,
sin A + cos A 2] 329
17 17
D

D-3 93

AC = V132-52=12

12
w2tA sin A + cos A = k2 +

1313

17

13

olt.




7.

BC AB
O oA — = o o] Z}F69
o8 TR o+ 22 o e

3 4 4
(D% @; @5
@D 5 @+

~&B

AAB,C; 91X AC; = VB2 + 62 = 10
AAB1C; 90 AABC (- AA B8)

BC_BCi_ 6 _3

AC AC; 10 5
AB AB; 8 4

AC AC, 10 5




8.

= W

cosA=- ¥ o, sinA +tanA °] 2?7 (F, 0° <A <90°)

37 57 V7T 57 V7T
O = e e > @57

B

CosA = % Q1 AABC € 18 HH

BC = /(4k)2 = (3k)2 = Tk

. SinA = ﬁ, tanA = ﬁ
4 3
sinA + tanA = VT?—'—\/?? =

N7
12




9. g g g R dojrt1 9l FeH A
Aoltt, /CFG = x & o, sinx o] 4t

TShH? B !




10. o5 2™ y-x of #2?

)6

cos30°:ﬂgzig y=12
y 2
Sin30° = = = = o]0 x =6
12




1. tpo oym v0] 4 y — %x+3 o] x %}

Y
oFE A 27|15 a =t & W, tana
2 otd? A
3 03 4 y:%/x%
o - @) - ® - a
-
2 3
(E°l) (vl Hioh) ol ZLakA o 3
tanf = () = (3] W5rF) = |[(&Ater9] 7187))| = 1




12. HZp424g ABC o4 AB = 8em
cm 9 o, /B o] 37]=7

os}
Q
I

e
w

D 15° @)30° ® 45°
@ 60° ® 75°




13. 0% Fol7 BE BT x 1y o g FohH?

2te sin cos tan
14° 0.2419 0.9703 | 0.2493
15° 02588 | 09859 | 0.2679
16° 0.2766 0.9613 | 0.2867
sin x = 0.2766 , tany = 0.2493
® 28° @ 29° @30° @ 31° ® 32°

sinx = 0.2766 .. x = 16°
tany = 0.2493 ..y = 14°

x4y =16°+ 14° = 30°




14. the 9] aABC oA AFzu]e] £8 BT ¢ 9] g2 FotH?

10

z sin = cos T tan z

43° 0.6820 0.7314 0.9325

44° 0.6947 0.7193 0.9657

45° 0.7071 0.7071 1.0000

46° 0.7193 0.6947 1.0355

47° 0.7314 0.6821 1.0724

@6.82 @ 6.947 ® 7.071 @ 7.193 ® 7314

sin 43° = % OB & x — 10X sin43° = 10 X 0.682 = 6.82
6.82




15. oh2o] AZMEZe ABC oA cosA+ g

6V3+5 6V3+7
@ ‘/—4—’— @ ‘/;4—’—
7V3+5 TV3+7
® N%A QZD 14
8V3+5
® 14
= V142 -72 = V14T =73
cos A +sin A = 7\/_‘*‘ 7‘/§+7

14 14 14




16. cosAzg A o, tan(90° - A) o] FE-27(H, 0° <A <90°)
3 4 3 5 4
Ok @ 3 ® 3 ® ® 3
4

cos A = g o™ gin A = %’ tan A = 3

Il
—
|
—_
Il
=~ w
(%]
==

wHhA] tan(90° — A)




o2 13 2ol A = 90° Q1 A7 o] A A of| 4] HlEo] W=l
Z=Ao] d& H 2 51, AB = 2vV3em , AC = Vbem , /BAH =
x, /CAH =y & o, sin? x — 2sin?y 9] 322

) )
-2 = — -2 = —
sin” x sm-y 17 X 17 17




18. ThS 129] AABC = AB = lem , /ABC = 90° D
/CAB = 60° ¢! A Zt4tZ-ge]al, AC = CD ©]t}.
o, tan75° & ZH-2?

@2+\/§ @ 1+ V3 ® V3
@ 2+ 2 ® 1+ V2

B

— 1
= = 2
© cos 60 °
o] 5H4Zte DCA |4 LACB = 30° 0|22

/CAD = /CDA =15°

AABD 9|4 tan /DAB = — = BC + CD

S tan75° =2+ V3




19. o= -3 go] ¥ 52| Zol7h 1 Q1 ARZdlA &4

oF

w0

E
/) z
I/ C
. y
Y f ]
X B D
_ S AC
® tanx = DE @ siny = AB AYtany = —
BC
@ sinz= AB ® cosz =BC
AD 1
t s —— ly =/
Otany = 55 = 55 (- o= «)




20. sin(2x + 30°) = cos(3y — 45°) & o, 4x —y O] & FSHH? (H,
0° < x<30° 15° <y <45°)

@0" @ 2 ® 18 @ 30° ® 45°

sinx = cos x 91 x = 45° o|t}. WhA] 2x430° = 45°, 3y—45° =
45°
15

x="",y=30 o|tt, wabA] 4x — y = 30° — 30° = 0° o]t}




21. o AZ447rde) A AB = BD = DC, AD = C
2v2 & o, cosx o] & F5HH?

OL R )

10
@ 10V10 5 1of

3

AB=BD=CD=2
= VE+16= V20 =25
AACD = AABC - AABD =2

AACD—%-A_C DH=--2V5-DH =
[ 2
=DH= —, AD? - DH?
V5
o
et cosy— A _ Y5 _ 3 3VI0 g

AD 2v2 VIO 10




22. i% a8 e A7 47 ABC o4 ADLBC , AB = 3cm
AC =4em 9 o, sin x 9] g2?




23. thg 297 2ol WAEe] Polh 1 9 AEeNA §7 e A
DT 12H)(AH 27H)
y
1
0.70F=--mmm === D
057k A’. !
35° 44
0 B C =
082 1
@ sin 35° = cos 55° @tan 35° = tan 5h°
® sinb5° = 0.82 (@)Sin 35°=10.70
® cos55° = cos L0DC
CD 0oC 1
@ tan35° = — = 0.70,tanb%° = — = —— OB &
an pove an = 0 ]
tan 35° # tan 55°
AB AB
@ Sin35° == = — = 057

0OA 1




24. x of Tst o|ZAPA A gx2 — 2x + 8 = 0 2] $F 0] 25in 90° — 3 cos 0°
A o, q O] FHZ FotH?

D)-10 @ -6 ® -2

@ 2 ® 6




25. tan(A -15°) =1 °]2, x? - 2xtan A — 3(tanA)? = 0 9] & &
ToPH? (00 < A <90°)

o

® 3323  @-v33v3i @23
@ 23, V3 ® -V3, -3V3

tan45° = 1 O]|B&2 A - 15° = 45°, A = 60° o|c}. oj2hA
x% = 2tan 60°x — 3(tan 60°)% = x> —2V3x -9 = 0 o]t} =&
FoH (x=3V3)(x+ V3) =0, x=3V3, - V3 oIt




